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 BECE-145  

B.A. (ECONOMICS) 

(BAG) 

Term-End Examination 

June, 2022 

 

BECE-145 : INDIAN ECONOMY – I 

Time : 3 hours Maximum Marks : 100 

Note :  Answer questions as per the instructions given in 

each section. 

SECTION A 

Answer any two questions in about 500 words  

each.  220=40 

1. Explain the state of ‘infrastructure’  in India at 

the time of independence. 

2. Analyse the trends in the growth of National 

Income in India over the different Plan periods. 

3. Discuss the various methods of measurement of 

poverty. 

4. Analyse the trends in inequality in terms of 

‘income, consumption and nutrition’ in India. 
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SECTION B 

Attempt any three questions in about 250 words  

each. 310=30 

5. Outline the concepts of ‘population ageing’ and 

‘demographic dividend’. 

6. Identify the factors contributing to increasing 

health expenditure in India. 

7. With expression, indicate the inequality 

measure given by Gini. Also, state its 

relationship to the Lorenz curve.   

8. Distinguish between WFPR and LFPR. 

9. Specify a framework for drawing a comparative 

profile of countries for their social and economic 

development. 
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SECTION C 

Attempt all questions from this section. 

10. Distinguish between any three of the  

following : 35=15 

(a) Government and Governance 

(b) Social Infrastructure and Economic 

Infrastructure 

(c) Natural Resources and Man-made Resources 

(d) Fertility Rate and Mortality Rate  

(e) Consumption Inequality and Nutritional  

Inequality 

11. Write short notes on any three of the  

following : 35=15 

(a) Usual Status of Employment 

(b) Social Progress Index 

(c) Structural Change 

(d) Squared Poverty Gap Index (SPGI) 

(e) Sustainable Development 



BECE-145 4 

 ~r.B©.gr.B©.-145  

~r.E. (AW©emñÌ) 
(~r.E.Or.) 

gÌm§V narjm 

OyZ, 2022 

 

~r.B©.gr.B©.-145 : ^maVr` AW©ì`dñWm – I  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  àË`oH$ ^mJ _| {XE JE {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE &  

^mJ H$ 

{H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| (àË`oH$) _|  

Xr{OE & 220=40 

1. ñdV§ÌVm Ho$ g_` na ^maV _| ‘AmYm[aH$ g§aMZm’ H$s 
AdñWm H$s ì`m»`m H$s{OE & 

2. {d{^Þ `moOZm Ad{Y`m| _| ^maV _| amîQ´>r` Am` H$s g§d¥{Õ 
Ho$ éPmZm| (àd¥{Îm`m|) H$m {díbofU H$s{OE & 

3. {ZY©ZVm H$mo _mnZo H$s {d{^Þ {d{Y`m| H$s MMm© H$s{OE & 

4. ^maV _| ‘Am`, Cn^moJ Am¡a nmofU’ Ho$ nXm| _| Ag_mZVm 
Ho$ éPmZm| (àd¥{Îm`m|) H$m {díbofU H$s{OE & 
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^mJ I 

{H$Ýht VrZ àíZm| Ho$ CÎma bJ^J 250 eãXm| (àË`oH$) _|  

Xr{OE & 310=30 

5. ‘OZg§»`m d`mod¥{Õ (n[anŠdZ)’ Am¡a ‘OZgm§p»`H$s` 

bm^m§e’ H$s AdYmaUmAm| H$s ê$naoIm àñVwV H$s{OE & 

6. ^maV _| ñdmñÏ` ì`` H$mo ~‹T>mZo _| `moJXmZ H$aZo dmbo 

H$maH$m| H$s nhMmZ H$s{OE & 

7. {JZr Ûmam {XE JE Ag_mZVm _mn H$mo ì`§OH$ g{hV Xem©BE & 

BgH$m bm°a|µO dH«$ Ho$ gmW g§~§Y ^r Cëbo{IV H$s{OE & 

8. WFPR Am¡a LFPR _| A§Va ñnîQ> H$s{OE & 

9. AnZo gm_m{OH$ Am¡a Am{W©H$ {dH$mg Ho$ {bE Xoem| H$s 

VwbZmË_H$ àmboI (àmo\$mBb) V¡`ma H$aZo Ho$ {bE T>m±Mm 

{Z{X©îQ> H$s{OE & 
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^mJ J 

Bg ^mJ _| go g^r àíZm| Ho$ CÎma Xr{OE & 

10. {ZåZ{b{IV _| go {H$Ýht VrZ  _| A§Va ñnîQ> H$s{OE : 35=15 

(H$) gaH$ma Am¡a emgZ 

(I) gm_m{OH$ AmYm[aH$ g§aMZm Am¡a Am{W©H$ AmYm[aH$ 

g§aMZm 

(J) àmH¥${VH$ g§gmYZ Am¡a _mZd-{Z{_©V g§gmYZ 

(K) àOZZ Xa Am¡a _¥Ë`w Xa 

(L>) Cn^moJ Ag_mZVm Am¡a nmofU Ag_mZVm 

11. {ZåZ{b{IV _| go {H$Ýht VrZ  na g§{jßV {Q>ßn{U`m± 

{b{IE : 35=15 

(H$) amoµOJma H$s gm_mÝ` pñW{V 

(I) gm_m{OH$ àJ{V gyMH$m§H$ 

(J) g§aMZmË_H$ n[adV©Z 

(K) é§{S>V (dJ©) {ZY©ZVm A§Va gyMH$m§H$ (SPGI) 

(L>) gVV {dH$mg 


